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4.7 Equation of a Line Given Two Points

THE BEST ANGLE FROM WHICH

Recall: TO APPROACH ANY PROBLEM
Find the equation of a line passing through
the point (5,-3) and having aslope of -2.

W= moh  [M=-2 ] e,

L IS THE TRUANGLE
Y= "2v+h
Sob A (5,-3)
T2 =-2(s) +h
~%=-104b
3+l6 = b

What if you are not given the value of slope but you
want to find the equation of a line? What

information do you need in order to calculate slope?

Ex.1 Write an equation that defines each of the following relations:
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Ex. 2 Find an equation for the line passing through A(2,3) and B(-1,-3).
Remember you need the slope and y-int
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Ex. 3 Sheldon is walking at a constant rate in front of a motion detector.
Aﬂe@mﬁom the sensor. Aﬂe@from
the sensor.

a) Find the equation of his path.
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b) Explain what the slope and y-intercept mean for this question.
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Ex. 4

a)What is the equation of a line passing through the points (3,2) and (-5,2) ?
X m= 249
nx .
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b) What is the equation of a line passing through the points (4,-6) and (4,7)?
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Ex. 5 Find the equation of a line with the same y-intercept as 4x - 3y =12 and
an x-intercept of -2.

Can you find a way to calculate the slope or y-int?

Can you do this one:
Make the x-int a
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